Ooooooooooooab 014d 2004 O
Journal of the Institute of Science and Engineering. Chuo University

ODOOOEulerodon
gogotdotooooboobod

oooOo-o0ooggf

O000000O0Euer0 00000000000 DOO0DOODOOOOOOODOODOOOOOOOOOOOO
oooooobooooboobooobooooobooobobooboboooboooobboobooooboooboboon

ooo
n000 >1000000p0000n0000000000 p0000 ordyprn 0000000ROO0
00dOn—-1=2m(mO000)0000

Bpsp = {a € (Z/nZ)* ; a" ' =1},

1

Bepsp = {a € (Z/nZ)" ; a7 = (%)}

By ={a€(Z/nZ)"; a™=1000 o*™=-1000 0<k<sOODDO)}

cooooo

0o0o0oooo

00 1.1.n000 >10000a" '#1 modn, (a,n)=100000000 ¢a00000000RD
0ooo

O00p0000 pfe000Fermat 00000 a?P~t =1 mod pO

00 1.2. 000 >10e0n000000000e¢* '=1 modnO00000ONO ¢0000000
0oo0o0ooon

n—1

a

00 1.3. n000 >10000a 2 ¢(—)nwdm(mnyzlmDDDDDDDaDDDDDDDD
n

nO0O000

000pO0O0O0 >20 pta0d000EuWer00000 a’T

(%) mod pO

n—1

a

00 14.n000 >10e0n000000000a 2 E(—) modn O000000On0O 00000
n

Euler0O0O0OO0OOOODOOO

00 1.5.n000 >1000n—1=2%n, 2{mO0000a™ # +1 mod n, a?m £ -1 mod n (1 <
k<s), (a,n)=100000000 «00000000RDOOOOO

O00pOO0DO0 >20p—1=2°m, 2¢m, ptfa 000

(@™ —1)(a™ +1)(a*™ + 1) @ "4 1) =a*"—-1=0 modp

*000O0ooon
fOoooooo BB



goooooooooo

O000a™ =1 modp OO a?'m =1 modp 000 k<sOOOOOO

00 1.6. nO000 >10n—-1=2°m, (m,2)=1000e¢0n000000000,00000 o™=
mod n 000 a?™=-1 mod n 000 k<sODOODOO0O0ORD ¢000D0000000000DO0O

00 1.7.n000 >1000n—-1=2°n, (m,2)=100000000r07n000000000000

V:n?mMAp—DDDDDDDDDD
prn

(1) Bpsp D Bepsp O BipspU
(2) Byspy O (Z/nZ)* 000000 B,,, 0000

H(n Y 1)
pln

Doooooo
(3) Bepsp 0 (Z/nZ)* 000000 Bepsp 0000
(a) s=v 0000

2I—I(n;1,p71)

pln
(b)s>v 0 orde(p—1)<s000000 pO0O0O0 ordyr DOODDOOO

H(nglap_l)

pln

c)s>vOordy(p—1)<sOord,n 000000000 nO0000 pOOO0OO0O0O0OO
P
1 n—1
§H(T’p_1)
pln

0000000
(4) Bspsp 0000

0000000
0 1.8. p000 >20n=p* 000000000 Bysp = Bepsp = Bspsp 1000 p— 100000

00 1.9.n000 >1000n—1=2%n, (m,2) =10000000000n0000000(—1)™ = -10
000000{£1} C Bapsp C Bepsp C Bpspll

00 1.10. nO000 >10000n00000 By =(Z/nZ)* 00000000n0 Carmichael 00
oooooo

0 1.11. Carmichael 0 0000000000 0000R =pipe---pr (p1,02,...,p, 0000000)0

00000n0O Carmichael0 < r>30n—-10 p1—1,p2—1,...,p,—100000

00000 L7(2)000n 0 Carmichael 0 < o(n) = [[(n—Lp-1oooooem) =Jr-1) <
pln pln

nooooooooonoooofJe-1)=][r-1p-1)eno0000po00d n—-10p—1

pln pln
oooo



O000Eder000OO0OOOOOOOOOOOOOOO

0000r=2,n=pg (p<q)0O000000n-1=(pE-1g+(@-1)0 (¢g—1)|(n—-1)0000
(¢g—D|(p—1HODODODO p<gOOOOO

00 1.12. 00 1.7(1) O Pomerance, Selfridge, Wagstaff 0 Monier 00O ([10, Th.3], [9, Th.9))0 O
00 (2) O Baillie, Wagstaff 0 Monier O ([2,Th.1], [9,Th.1 0000 ])d (3) O Monier O ([9, Prop.3])O
(4) 0 Monier 000 ([9, Prop.1])0(2)(3)(4) 0000000000 DOO Monier 00000000 DD
0 O 0 O Ribenboim [12, Ch.2.VIIT] O O

Bpsp =#{a €Z/nZ; a" ' =1, a # 1},
Bepsp = #{a € (Z/nZ)* ; o'z = (E)) a#1},

n
Bspsp:#{aEZ/nZ;amzlﬂﬂﬂ ™ =_-1000 k<8DDDDD,a7é1}

000000000000000000000 10000 (Z/nZ)*000000000000000000
0000

00 11000 13000 1.500000000000000000000000000000000000
2], [7], [9], [10], [11], [14] 00D DOO0O0O0Miller [7]000 Riemann D000 O0DOO0O0D0DOOOODOOO
0000000000000000000000000 1.50000000000000Rabin [11]0 Miller
0000000000000 D000Doo00DoooooooMiller [7/0000000000000000
D0000a" '=1 modn OO k<sOOOO @ﬂm—lJﬂzlﬂDD71DDDDDDDDnDaDD
000000000000000000000000000Rabin [11]0 MileeDOOODOOOOO00O0
0 1.11 0 Korselt [6] O Carmichael [3]0000 Carmichel0 00000000000 Alford, Granville,
Pomerance [1] 0000000000

googoobooo

00 2.1. n000 >10d0 n—10000000H ={a€ (Z/nZ)*;a?=1 modn} 00000
DDHD(ZMEXDDDDDDHDDDDIB&p—UDDDDDDD
pln

O00n=pi*ps?---pe (p1,p2,-..,p» 0000000)0000 0000 a;=a modpy" 00000
00 aw (a1,as,...,a,) 000 (Z/nZ)* — (Z/p{*Z)* x (Z)pPZ)* x - x (Z/pSrZ)* 000000
ooooo

a’=1 modn

& 04i0000a*=1 mod pf’

& 0400000 (Z/pf2)* 0000000 d0O0OD0

& 04i0000 a0 (Z/pf2)* 0000000 (d,e(ps?)) 0000
0000 n—-10000000 p; 000000000000d, @) = (d, (p;i—1)ps ") = (d,p;—1)0
000(Z/py’Z)* 00000000000 (d,p;—1) 000000000 (Z/p’Z)* 000000 (d,p; —1)
ooooo
00 22.n000 >10k0O0O0O ZIDDDV:rnlinordg(p—l)DDDDDDDDDa2kE—1 mod n

pln

000000 e€Z 00000 ©k<v—-1lend0000p0000p—10 2 0oooooO



goooooooooo

000 n=pyps?-- p (p1,p2,...,p»r 0000000)000000000
2k
a“ =—-—1 modn
& 0i0000 a® =-1 mod p

& 0400000 (Z/pfZ)* 0000000 2" 00ooo
0000(Z/p;'Z)* 00000000
(z/pfiz)* 000 2" o0ono0 < 28 o) < 28 (p; — 1)D
0000000000

00 2.3.n000 >1DDDVzmlinordg(p—l)DDDDDDDDDordQ(n—l)ZVIZIEIIZIIZID
rn

orde(n—1)=v & Z ordyn =1 mod 2,

pln
orda(p—1)=v

orde(n—1) >v & Z ordyn =0 mod 20

pln
orda(p—1)=v
oob pOnOd0000D00O0DOODOO
orday(p—1)=v & p=1+2" mod 2",

orda(p—1)>v & p=1 mod 2"

oooo
n=1+ ( Z ordpn> 2¥ mod 2vt!
pln
orda(p—1)=v
ogooo

0 24.n000 >1DDDV:m‘inordg(p—l)DDDDDDDDD
pln

00020000 p0000 orda(p—1) >orde(n—1) 00000 < ordy(n—1) =y,
orda(p—1) <ordy(n—1) 00000020000 p00000 < orde(n—1)>vO

D25.nDDD>ﬂDaDDDDDDu:n?mmxp—UDDDDDDDDD
pin

(Da?"'=1 modn OO (ﬁ) =10
n

(2) a2 =-1 modn 0O orda(n—1) >v 00O (E) =10
n
(3) a2 =1 modn O orde(n—1)=v 00O (ﬁ) =10
n
000a? =1 mod n000000EWer000000 nO00000 pOO00

(E) =a" = (aQV_l)I;;”1 =1 mod pO
p



O000Eder000OO0OOOOOOOOOOOOOOO

a
goooo (—) =10
n
000ae?  =-1 modn 0000000
p—1
5 =0 mod2 & ordy(p—1)>v,
—1
pQV =1 mod2 & ordy(p—1)=v
agooo
(a) 1 Ordz(p— 1) >v
p -1 orde(p—1)=v0O
gooooo
e= Z ord,n
pln
orda(p—1)=v
ogoooo
a
2) = (-1°m
(7) =

O0o0o0ooo 2300

e=0 mod2 & ordz(n—1) >,

e=1 mod2 & ordy(n—1)=v0

2.6. 00 1.7000.

(1) @ € Bepep 000000000 ™ =+1 mod n0 000000 = (+1)2=1 mod n0 000
O00a € Bpspl

0006 € Byps, 00000000000 2200 a™=1 modn 000 a2™=—-1 modn 0000
00 k<v-1000000

s=rv gggno

n—1

T =a2 "™ =41 mod nQd

ooooooo 2500
(a) 1 a2 '™ =1 modn
“1 a7 =_1 modnO

00000a € BepspD
s>v 0000

ot = g2 T = (QQWIm)QSW =1 mod n0
a
O00Do0oOooo 2500 (*) =1|:||:|DDDDOJ€B€;DSP|:|
n

(2)0D0210d=n-100000000000



goooooooooo

3)C={a€Z/nZ;a"T =1} 00000CO (Z/nZ)* DOOO0ODO0OO0D 2100 CO000

H(ngl,p—l) 00000
pln

(a) s=r0000acCO0a® ™=1modn0 mOO000D00O0 2500

m

(2) - (E) - (‘L) —10
n n n
000000a € BepspD

00000 2200 ¢ = -1 modn 000000 ¢ € ZOOODOOODO00O0D00 25000
a

(—>:—1DDDDDDaeBe,,SpD

n

a
DDDDDDDDar—»(f)DDDDDDDDDDDD Bepspﬂ{:tl}lj[ll][ll]l][ll][l coooooo

n
00000CO Besp O0ODO 200000

1 25‘—1

(b)(c) s>r 0000002200 a2 =a
00000 Bepsp C CO

n—1 p—1

a
0000e =z =1 modnOpd nO00000 orde(p—1) >s00 (—)leDDDa 7 =241 modp
p
OmUOdOOooooo

mM=—-1 modn 000000 e€ZO0OD0O0D0OOOO

a -1 —1 s— 1
(—)E(IPTE((LL)m:(GQ l7")?23 =1 mod pO

p

O0O0O0O0Dorde(p—1)<sO0O00 00000 p0O0O0O0O ord,n D00O0000DD0 acCOOOO

a
(—)leDDDDDDDDDDBepSp:C’D
n

O000ordyn 0000 orde(p—1)<s=orde(n—1) 0000000000 p00000000000
a

n = p{'ps? .- pr (pl,pg,...,prDDDDDDDDplzp)DDDDD(—l>=—1 Oooo0ooo e OO

D1

p1—1 ep—1 py—1

0000000a; 2 =-1 modpi0a; 0 @' 000000D0000O000a; 2 =-1 modp$' O
DDDDDDDDDDDslzordQ(pl—l)DDDDDp12;1DDDDDDD
B -1
()= () = io
b1 b1
0D00000a; O afl_;l 0000000000000 =-1 modp$! 0000000000000

n—1

s1—1<s—10000a2 =1 mod p{'0000000a,® =1 mod p{'0000000aD

a=a; modp, a=1 modps?,..., a=1 mod pg"

n—1

O0000000000ae 2z =1 modnOO0O0O

(5) ==t (2=t (5) =1

a
a 61DDDDDDD(*>:*1D
n

a
DDDDDDDD@H(—) 000000000000 C—{£1} 000000000 Bepsp 0000
n
00000000Bes,, 0 CO00200000
40 k>00000 C’kz{ae(Z/nZ)X;anmzl}DDDDDC'kD (Z/nZ)* 000000000
Do 2100 G.oooo [[(2"mp-1)00000000k<vOO

pln

[[@m.p—1)=2%[](m.,p-1)D

pln pln



O000Eder000OO0OOOOOOOOOOOOOOO

00000 k>00000 By={a€c (Z/nZ)*; a®m=-1}00000mO000000
Br#06 & & =-1 modn 000000 c0O00O0O0O

0000B,£6¢00 a—ca000 Cy > B, 00000000000 22000c% =-1 modn 00
0000 c00D000 < k+1<v0000000k>v 00 By=0¢000000Bsys, 000

Bspsp:COUBOUBlLJ"'UBV,1

gboobobooooooo

Bl = (14142 4200 [mp 1) = (14 2D T mp 1)

pln pln
gooo

00 2.8.n000 >1000n—-1=2%m, (m,2)=100000000707,000000000000

V:m‘inordg(pfl)DDDDDDDDDBSPSPEI (Z/n2)* D000 & r=1000 v=10
pin

000(Mm—1,p—1)0 (m,p—1)0200000000000|Bpsp:Col02000000000Bsps
0 (Z/nZ)* 000000 |Bpsp:Col 020000000 |Bepsp:Col=1+1+2" 4. 420-0r g2
00 ¢r=1000 v=10

00 2.9.n000 >1000n—1=2%m, (m,2):1DDDDDDDDV:nllinordg(pfl)DéD Bipsp O
pln

00000000 (Z/nZ)* 0000000000000 =C,_1UB,_1 0 C,_1 D CoUByUB,U- - - B,,_50
oooooo

€] = 2/Cyos| = 247D [[(m,p — 1)D

pln

00 2.10. nO000 >1000n=p'ps®---ps (p1,p2,...,p» 0000000)0 n0D00000O0O0
0000O0On—1=2%n, (m,2)=10000000000:0000 p;—1=2%m,, (m;,2)=1000

O0v= min s; 0O0OO0O0OO0ODOO
1<i<r

ords p(n) = Z s;0
i=1
ood

T
ords|Bpsp| = Z min(s, s;),
i=1

1+r(s—1) s=v
T
orda| Beyey| = 4 D min(s = 1,s:) s>v0 s<s000000:i0000 ¢ 000
=1
.
1+ ) min(s—1,5) s>v0 s <sle000000000i00000
i=1

ordy|C| =1+ 7(v —1)



goooooooooo

T
0000000000 )|Bpsy|0|Bepspl0C 0 200000 H(m,mi)DDDDD

i=1

00 2.11. 00 280 Koblitz [5], 0 50 1000000 23000000000

gooooooao

00 3.1.n000 >1000000000Bpsp=DBepsp ©n0000000000r00000 n00

000 pO0000 orda(p—1)<ordy(n—1)) 000000

000n = pi'ps?---pe (p1,p2,...,pr 0000000)000n—1=2°m, (m,2)=1000000

000 :0000 p; —1=2%m;,, (mi,2):1DDDDDy:1r£_ig 5, 000000 210000 |Bpsp| O
SAST

|Bepspl 0 200000000000 Bpsp = Bepsp < orda|Bpsp| = orda|Bepsp|O
s>v0s;<sOe 0000000004:00000000

ords|Bpsp| = Zmin(s, si) > —1+ Zmin(s —1,s;) = orda|Bepspl
i=1 i=1

0000 Bpsp # Bepspl
000s>v0 s <s000000¢0000 e 000000000

T T
orda|Bpsp| = Zmin(s, si), orda|Bepsp| = Zmin(s —1,s;)
i=1 i=1
gooo

s T
Bpsp = Bepsp & Zmin(s,si):Zmin(s—l,si) &< 0+:0000 s; <sO
i=1 i=1
O00do0o0d0odde; DOO0D0ODO0O0O0OOnO0OOOO
O00s=vOooog

orda|Bpsp| = Zmin(s, s;) =rs, orda|Bepsp| =1+ Zmin(s —1,8)=14+r(s—1)

i=1 i=1

oooo

Bpsp = Bepsp & rs=1+1r(s—1) & r=10

03.2.n000000000000000|Bepsp| < p(n)/20

000 Bepsy 0 (Z/nZ)* 00000000 Bepsp # (Z/nZ)* 000000 0n O Carmichael 000
0000|Bepspl < |Bpspl < ¢(n)D000n0 Carmichael 00 00n0000000000000000
| Bepsp| < |Bpsp|O

00 3.3. n000 >1000s = ordz(n—1), V:rnlinordg(pfl))DDD[IDDDéD Bypsp 000
p|n

000000 (Z/nZ)* 0000000000000C O Beps, 00000 © s=v00000n0000

000000n=p%" (p,q 00000000 orda(p—1) =orda(g—1), a=B=1 mod 2)0

000n =p{'ps?---pé (p1,p2,...,p» 0000000)000n—-1=2%n, (m,2)=100000000

0:0000 p; —1=2%m,, (mi,z)zluDDDDDuzlrgig 000 210000|C| O |Bepsp| O 2
<i:<r

00000000000 Bepsy = C & ordy|Bepsp| = ordy|C|0 00D ordy|C| =1+ (v — 1)0



O000Eder000OO0OOOOOOOOOOOOOOO

s=v Qoogd
ords|Bepsp| =1+ 7(v—1)

0000 Bepsp = CO
O0O0s>v0O s;<sO00000040000 e 000000000
T
orda|Bepsp| :Zmin(s—l,si)
i=1
0040000 min(s—1,s;)) >v 0000
kA
Bepsp =C & Zmin(s—l,si)zl—i—?“(u—l) & r=10
=1

O00s>v 0 s;<s0 e 000000000 ::00000000
T
ord2|B€psp|:—1+Zmin(5—1,si)
i=1
0040000 min(s—1,s;) >v 0000
T
Bepsp =C & —1+Zmin(s—l,si):1+r(1/fl) S r=2, 851 =8y =v0
i=1
O00000000e1=e; mod20 e, eo 00000000000 e; =ex =1 mod 20

00 34.n000 >1000000000Bepsp =DBgpsp ©n=3 mod4d00000n0000000
000n=p*¢" (p,¢q 00000000 p=¢=3 mod4, a=F=1 mod 2)0
O00n=p]'ps?---p (p1,p2,...,p»r 0000000)000n—1=2°m, (Mm,2)=10000000
000:0000 p; —1=2%m,;, (mi,2):1DDDDDz/:1rg_i2 s; 0000

<it<r

CO By, 000000000 (Z/nZ)* 000000000Bepsp = Bspsp & Bepsp = C 0 C = Bapspl
000000 3300

Bepspy =C & s=v00000 r=100000 r=2, sy =83 =0, e =eg =1 mod 20
0OooO0 2800
C =By © r=100000 v=10
000000000
Bepsp = Bspsp & s=100000 r=100000 r=2, s1=82=1,e1=e2=1 mod 2
0000

00 3.5.n000 >1000000000

(1) |Bepspl = ¢(n)/2 < n 0 Carmichael 00 n 00000 p00OO0 orde(p—1) <orde(n—1) 00
oooo

(2) |Bepspl = ¢(n)/4 & n=pq (p,q0000 ¢q=2p—1)00000n0 pipeps (p1,p2,p3 00000
000 orda(pr — 1) = orda(pe — 1) = orda(ps — 1)) 000 Carmaichael 000 00 0On O Carmichael O



goooooooooo

0000000 pO0000 orda(p—1) =orde(n—1) 000000 ¢qOO00O orde(q—1) < ordz(n—1)
oooooo

000n=pips? - pe (p1,p2,...,0» 0000000)000n—1=2%m, (M,2)=1000000000
T

0:0000 p;—1=2%m,;, (m;,2)=100000v = min siDDDDDDDDDordgw(n)zzsiD
1<i<r P

(1) |Bepspl = ¢(n)/2 00000000000 0000000000O00000 m;mO000000O
O0r > 20
s=r 000000 21000 orda|Bepspl =1+r(s—1) 0000

1+r(s—1):—1+ZsiD
i=1

cooooo

T

Z(si—s—i—l):ZD

i=1
00000 :0000 s4—s+1>10000r=2, s =8 =s000000000 2300 s>v0O00O0O
Os=vOooogno

T
DO00s>v0000r000000000000000 21000 ordg|Bepsp| = =14 min(s—1,s;)0
=1
0ooooo

-1+ Zmin(s —1,8)=—-1+ Zsilj
i=1 i=1

gooooo

o000 0000 s; < s—100000D00DODODOOO0OOOO 0000 m2|m Ooddn0O
Carmichael O O

O00OnO Carmichael 000 0000 s; < s O0OO0D00OO0OO0OO0O0O0O0O0OOOOO¢:O0OO0O (pi—
n—1
1]

O0000s>v 0 n0000000000O00OOOO 21000

T T

|&mﬂ:%Iﬂnglmr—Uzéfﬂm—I%:%?D

=1 =1

(2) |Bepspl = ¢(n)/4 00000000000 00000000000 40000 m;m 0000000
Oo0r > 20
s=v 000000 21000 orda|Bepspl =14+7r(s—1) 0000
r
1+7’(571):72+Zszﬂ
=1

gooooo

_10—



O000Eder000OO0OOOOOOOOOOOOOOO

Oo0000+:0000 s;—s+12>10000r=2, s1=s8,8=s+100000r =3, 51 = Sg = 53 = sOJ
(a)r=2,51=8,82=s+10000mnmO0000(p1—1)|(n—1)00000n—1= (p1—1)p2+(p2—1)
0000(p1—1D|(pe—1)0000me|m 0000(pe—1)[2(n—1)000002(n—1) = 2(p2—1)p1+2(p1 —1)
000dd(pe—1|2(pr —1)000000000p2—1=2(p; —1)O
(b)r=3, s1=s2=s3=s0000040000 (m,m;)=m; 0000n 0 Carmichael 00
000s>v0000rn0000000000O0DOODO 2.1000 ord2|Bepsp|:flJerin(sfl,si)D
i=1

goooon

-1+ imin(s —1,8)=-2+ isilj
i=1 i=1

gooooo

T

1+ imin(s —1,8) = Z&'D
i=1

1=1
00000s;=s000000¢00000000j#400 s—1>s0000000000000000
10000 mylm O000DOn O Carmichael 00
O00n=pp2 0 pp—1=2(p1—1) 00000000000

pP1— ]. = 251’17117 D2 — ]_ = 251+1m1, n — ]_ = 251m1(3 + 251+1m1)
0000ses=s1+1, my=mq, s=s;, m|mO0 00000000 2.1000
orda|Bepsp| =14+2(s — 1) = =2+ (51 + s2) = =2+ ords p(n)0

O000On O p1paps (s1 =83 =s3) 000 Carmaichael 000000000000 2300 s=v 0000
o0 21000

ordg|Bepsp| =1+3(s —1) = =2+ (s1 + s2 + s3) = —2 + orda p(n)0

O000n0O Carmichael 000s; =s00 ¢>20000 s, <s0000000000000000s >v
OnO00000000ODOOOOOOO 21000

orda|Bepsp| = —1 + Zmin(s —Lsi)=—-14+(s1—1)+ Zsl =—-24 ZSZ = —2+ ords ¢(n)0
i=1 i=2 i=1

0000000000000 Bepsp| = ¢(n)/40

0 3.6. (1) |Bepspl = ¢(n)/2 000 n < 10°0
01729 =7x13x 19

0 2465 =5 x 17 x 29

0 15841 =7 x 31 x 73

0 41041 =7 x 11 x 13 x 41

0 46657 = 13 x 37 x 97

0 75361 =11 x 13 x 17 x 31

2)

|Bepsp| = ©(n)/4000 n < 10°0
0100

(

— 11—



goooooooooo

15=3x%x5

91 =7x13

703 =19 x 37

1891 = 31 x 61

2701 =37 x 73
12403 = 79 x 157
18721 =97 x 193
38503 = 139 x 277
49141 = 157 x 313
79003 = 199 x 397
88831 = 211 x 421
200

8911 =7 x 19 x 67
29341 = 13 x 37 x 61
561 =3 x 11 x 17
300

1105 =5 x 13 x 17
2821 =7x 13 x 31
6601 =7 x 23 x 41
10585 =5 x 29 x 73
52633 =7 x 73 x 103
62745 =3 x 5 x 47 x 89

OO oDoooooooooooooooooodg

0 3.7.n000000000000000
(1) n#900 |Bspsp| < ¢(n)/40
(2) |Bspspl = w(n)/4 < n=pq (p,q0000 p=3 mod 40¢ = 2p—1)00000n 0 pipaps (p1, P2, P3
00000000 py =pe =p3 =3 mod 4) 000 Carmaichael OO
O00n=p]'ps?---pe (p1,p2,...,p,r 0000000)000n—1=2°m, (Mm,2)=10000000
000 :0000 p; —1=2%m,;, (mi,z)zlmDDDDuzlrg_igsiDDDD
<z:<r
0 3.2000|Bspsp| < |Bepsp| < (n)/20
() |Bepsp| = ¢(n)/2 000000 3500000 Carmichael 0100 0000 s; <s00000C O

Bupsp 000000000 (Z/nZ)* 00000000000 2.10000|C| 0 |Beypspl 0 2000000
0oo

ordy|Bepsp| — orda|C| = (—1 + isl) —{14+rv-1}=-2+ i(sl —v+1)0
i=1 i=1
gogo
724’27,:(51‘*1/4’1) >20
i=1 r

000 Carmichael 00000 > 30000000000 s;—v+1>10000-2+4» (si—v+1) >
- =1
100000-2+4) (si—v+1)=10000000r=30 s =s;=s3=1000000000 2.30

i=1
0s=10000 s>v 00000
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00000000|Bspspl < ‘é|§ |Bepspl/4 = ¢(n)/80
(b) [Bepspl = ¢(n)/30000n =90 |Bspsp| = ¢(n)/30
(¢) |Bepspl = ¢(n)/4 000000 350007 =2, pp = 2p1 —10000, n O Carmichael 00
r=3, 51 =5 =s0000,n0 Carmichael 000D i0000 s;=s0 j#¢00 s; <sO00O0O
ooog 3400

Bepsp = Bepsp & s=100000 r=100000 r=2, sy=s2=1, eg=e2=1 mod 20
ooooooo

|BSPS;D| =p(n)/4 &
r=2,s=1,p,=2p; —100000n0 Carmichael 00 r =3, s1 = s = s3 =10

O0000000py=2p; —10000s =510

0 3.8. |Bspsp| = ¢(n)/4 000 n < 10°0

100

15=3x%x5

91 ="7x13

703 =19 x 37
1891 = 31 x 61
12403 = 79 x 157
38503 = 139 x 277
79003 = 199 x 397
88831 = 211 x 421
200
8911 =7 x 19 x 67

OO0 oooooooogoadg

00 3.9.n000 >1000n—1=2%n, (m,2):1DDDDDDDEluzmlinordg(p—l)I:IIZIDD
pin

gooog

(1) Bepsp ={£1} & n030000000n=3 mod40 nO00000 pOOOO (m,p—1)=100
O000n =p¢°® (p,q 00000000 p=¢gq=3 mod4, (mp—1)=(m,gq—1)=1, a=p=1
mod 2)0

(2) Bspsp ={£l} & v=10n00000 pO00Q0 (m,p—1)=10

00 3.10. O 3.20 Solovay, Strassen [14] 000 3.7(1) O Monier 0 Rabin 000 ([9, Prop.1], [11,
Th.1))0

00O Monier 9]0 Prop.3 00000000 3.5(1)000000000Prop.l DOODOOO 3.7(2)
D000000000000000C0Rabin [11]0 Th1 000000 nO pipeps (p1,p2,p3 000000
00 p1 =pe2 =p3 =3 mod 4) 000 Carmaichael 000 |Bspsp| = ¢(n)/4000000000000
000

OO0OOMonier 90 Th9 0D0DOODDOOO 3400000000000000n =3 mod4 0O
Bepsp = Bspsp 000000 Malm (8] 0000

[40D0 3020050050 100[12]00 20 80090000 00Euler 0000000 0OOCarmichael
00000000000000000000000EWer0000000000000000O00O0O0O [13]
00000000000
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